

The Differentiability of the Riemann Function at Certain Rational Multiples of π

Author(s): Joseph Gerver

Source: American Journal of Mathematics, Vol. 92, No. 1 (Jan., 1970), pp. 33-55

Published by: The Johns Hopkins University Press

Stable URL: http://www.jstor.org/stable/2373496

Accessed: 03/03/2009 12:51

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at http://www.jstor.org/page/info/about/policies/terms.jsp. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at http://www.jstor.org/action/showPublisher?publisherCode=jhup.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

JSTOR is a not-for-profit organization founded in 1995 to build trusted digital archives for scholarship. We work with the scholarly community to preserve their work and the materials they rely upon, and to build a common research platform that promotes the discovery and use of these resources. For more information about JSTOR, please contact support@jstor.org.



The Johns Hopkins University Press is collaborating with JSTOR to digitize, preserve and extend access to American Journal of Mathematics.

THE DIFFERENTIABILITY OF THE RIEMANN FUNCTION AT CERTAIN RATIONAL MULTIPLES OF π .

By Joseph Gerver.

1. Introduction. Riemann is reported to have stated [1], [4], but never proved, that the continuous function

$$f(x) = \sum_{k=1}^{\infty} \frac{\sin(k^2 x)}{k^2}$$

is differentiable nowhere. Kahane [3] renewed the interest in this classical problem in connection with lacunary series, and refers to Weierstrass [4], who had attempted to prove Riemann's statement, did not succeed, and was led to his series representing a continuous function nowhere differentiable. To quote from Weierstrass: "Erst Riemann hat, wie ich von einigen seiner Zuhörer erfahren habe, mit Bestimmtheit ausgesprochen (i. J. 1861, oder vielleicht schon fruher), dass jene Annahme unzalässig sei, und z. B. bie der durch die unendliche Reihe

$$\sum_{n=1}^{\infty} \frac{\sin(n^2 x)}{n^2}$$

dargestellten Function sich nicht bewahrheite. Leider ist der Beweis hierfur von Riemann nicht veroffenlicht worden, und scheint sich auch nicht in seinen Papieren oder mündlich Uberlieferung erhalten zu haben. Dieses ist um so mehr zu bedauern, als ich nicht einmal mit Sicherheit habe erfahren können, wie Riemann seinen Zuhörern gegenuber sich augedrückt hat."

Riemann's assertion was partially confirmed by Hardy [2], who proved that the function has no finite derivative at any point $\xi \pi$, where ξ is:

- 1) irrational;
- 2) rational of the form 2A/(4B+1) where A, B are integers:
- 3) rational of the form (2A+1)/2(2B+1).

In this paper we will prove that Riemann's assertion is false, by proving the following theorem.

Received December 4, 1968.

THEOREM 1. The derivative of

$$\sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2}$$

exists and is equal to -1/2 at any point ξ_{π} , where ξ is a rational number of the form (2A+1)/(2B+1), i. e. a rational number whose numerator and denominator are odd.

We will also extend Hardy's results by proving the following theorem.

THEOREM 2. The derivative of the Riemann function does not exist at any point ξ_{π} , where ξ is a rational number of the form $(2A+1)/2^N$, where N is an integer ≥ 1 .

In order to prove these theorems, we need two lemmas.

Lemma 1. Let μ , ν and λ be any integers such that

$$0 < \mu < \nu \leq \lambda$$

and let τ be any real number such that either $-\pi/2 \leq \tau \leq -\pi/\lambda$, or $0 \leq \tau \leq \pi/2$. Then

$$\sum_{k=0}^{\infty} \left(\frac{\sin[(\lambda k + \mu)^2 x + \tau]}{(\lambda k + \mu)^2} - \frac{\sin[(\lambda k + \nu)^2 x + \tau]}{(\lambda k + \nu)^2} \right)$$

has a right derivative of $(\frac{\nu - \mu}{\lambda})\cos \tau$ at 0.

Lemma 2. Let μ and λ be any integers such that $0 < \mu \leq \lambda$, and let τ be any real number such that $0 \leq \tau < 2\pi$. Let

$$f(x) = \sum_{k=0}^{\infty} \frac{\sin[(\lambda k + \mu)^2 x + \tau]}{(\lambda k + \mu)^2}.$$

Then at x=0, we have:

$$0 \leq \tau < \pi/2 \Rightarrow left \ derivative \ of \ f \ is \ +\infty, \\ \pi/2 < \tau \leq \pi \Rightarrow right \ derivative \ of \ f \ is \ -\infty, \\ \pi \leq \tau < 3\pi/2 \Rightarrow left \ derivative \ of \ f \ is \ -\infty, \\ 3\pi/2 < \tau < 2\pi \Rightarrow right \ derivative \ of \ f \ is \ +\infty.$$

In general, the differentiation of the Riemann function at a point P/Q where P, Q are integers, involves differentiating each subseries formed by taking the summation over those values of k in the same congruence class modulo Q. It is not difficult to prove that for any Q, these subseries are all of the form of the functions in Lemmas 1 or 2, if the coordinate system

is shifted along the x-axis so that $P\pi/Q$ becomes 0. If no more than one of these subseries is of the type in Lemma 2, then it is obviously possible to find the derivative of the entire series by adding the derivatives of all the subseries. If there is more than one subseries of the type in Lemma 2, this is not generally possible, either because one ends up with both unknown right and left derivatives, or because one must add derivatives of $+\infty$ and $-\infty$. In particular, this is true of rational multiples of π , of the form 2A/(4B+3) and $(2A+1)/2^N(2B+1)$ where $N \ge 2$. Solutions for these points will have to await a better approximation of the values of the Lemma 2 type series near 0 than are provided by Lemma 2.

Note that Lemmas 1 and 2 simply state in somewhat more generalized form, that the Riemann function has a derivative of -1/2 at π and $+\infty$ at 0. Therefore, before proving Lemmas 1 and 2, we will briefly outline the proofs of these simpler results, which in fact, formed the basis for the rest of the paper historically.

Let f be the Riemann function, that is

$$f(x) = \sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2}.$$

To prove the differentiability at π , fix n. We then show that

$$|f(x) - \frac{x - \pi}{2}| < \frac{c(x - \pi)}{n}$$

with a suitable constant c, for x sufficiently close to π . Indeed, take

$$|x-\pi| < \frac{\pi}{2n^{14}},$$

and partition the series atthose integers k closest to

$$\frac{1}{n}\sqrt{\frac{\pi}{2(x-\pi)}}$$
 and $\frac{\pi}{2n(x-\pi)}$.

Then one shows that the first part approaches 0, the second part approaches $(x-\pi)/2$, and the tail end approaches 0.

On the other hand, to show that the derivative of f at 0 is $+\infty$, we fix n, and then show that f(x) > nx for sufficiently small x. For this, let $|x| < \pi/2cn^2$, where c is a suitable constant. Partition the series after n+1 at

$$\sqrt{\frac{\pi}{2x}}$$
 and $\sqrt{\frac{\pi}{x}}$.

We then show that the first part is > nx, the third is > 0, and the second part is greater than the absolute value of the tail end.

2. Preliminary remarks on Lemma 1. It will be convenient, in proving Lemma 1, to adjust each term of the series so that it passes through the origin. This can be done by altering the series to read

$$\sum_{k=0}^{\infty} \left(\frac{\sin \left[\left(\lambda k + \mu \right)^2 x + \tau \right] - \sin \tau}{\left(\lambda k + \mu \right)^2} - \frac{\sin \left[\left(\lambda k + \nu \right)^2 x + \tau \right] - \sin \tau}{\left(\lambda k + \nu \right)^2} \right)$$

Since $\frac{\sin \tau}{(\lambda k + \mu)^2}$ and $\frac{\sin \tau}{(\lambda k + \nu)^2}$ are constants, this modification does not affect the existence and value of the derivative.

Since for most of this proof we will be examining expressions of the form $\frac{\sin[(\lambda k + \mu)^2 x + \tau] - \sin \tau}{(\lambda k + \mu)^2}$ as functions of k, keeping x constant, we will, for convenience, write expressions of the form $\frac{\sin(i^2 x + \tau) - \sin \tau}{i^2}$ as S(i).

We will prove the following form of Lemma 1:

For
$$n > \lambda$$
, $0 < x < \frac{2\pi}{\lambda^2 n^{14}}$, we have:

$$\left|\sum_{k=0}^{\infty} \left[S(\lambda k + \mu) - S(\lambda k + \nu)\right] - x(\frac{\nu - \mu}{\lambda})\cos \tau\right| < \frac{469x}{n}.$$

First we divide the series into two parts, the sum over all k < b and the sum over all $k \ge b$, where b is the least integer greater than $\frac{\pi}{n\lambda^2 x}$. Now we will prove that for all x such that $0 < x < \frac{2\pi}{\lambda^2 n^{14}}$, we have

$$\left|\sum_{k=0}^{b-1} \left[S(\lambda k + \mu) - S(\lambda k + \nu)\right] - x(\frac{\nu - \mu}{\lambda})\cos \tau\right| < \frac{125\pi x}{n}$$

and

$$\big|\sum_{k=0}^{\infty} \big[S(\lambda k + \mu) - S(\lambda k + \nu)\big]\big| < \frac{76x}{n}, \text{ for } n > \lambda.$$

3. Values of k less than b. Basically, we will show that for all k less than b, $S(\lambda k + \mu) - S(\lambda k + \nu)$ is very close to

$$(\frac{v-\mu}{\lambda})[S(\lambda k+\mu)-S(\lambda(k+1)+\mu)].$$

This means that $\sum_{k=0}^{b-1} [S(\lambda k + \mu) - S(\lambda k + \nu)]$ is very close to

$$\sum_{k=0}^{b-1} \left[S(\lambda k + \mu) - S(\lambda(k+1) + \mu) \right] \left(\frac{\nu - \mu}{\lambda} \right),$$

which is equal to $(\frac{\nu-\mu}{\lambda})[S(\mu)-S(\lambda b+\mu)]$, since all the middle terms cancel out. Since $x<\frac{2\pi}{\lambda^2n^{14}}<<\frac{1}{\mu^2}$, $S(\mu)$ is approximately $x\cos\tau$, and, since

$$\frac{1}{(\lambda b + \mu)^2} < \frac{1}{\lambda^2 b^2} < \frac{n^2 \lambda^2 x^2}{\pi^2} < \frac{2x}{\pi n^{12}} \langle \langle x, S(\lambda b + \mu) \rangle \langle x, x \rangle$$

so
$$\sum_{k=0}^{b-1} [S(\lambda k + \mu) - S(\lambda k + \nu)]$$
 is very close to $x(\frac{\nu - \mu}{\lambda}) \cos \tau$.

First consider k < c, where c is the least integer greater than $\frac{1}{\lambda n} \sqrt{\frac{\pi}{2x}}$. For all positive integers i, $\frac{dS(i)}{dx} = \cos(\tau + i^2 x)$. Consider two positive integers i and j such that $i < j \le \lambda c$. Now $c < \frac{1}{\lambda n} \sqrt{\frac{\pi}{2x}} + 1 < \frac{2}{\lambda n} \sqrt{\frac{\pi}{2x}}$, since $x < \frac{2\pi}{\lambda^2 n^{14}}$. Therefore $(\lambda c)^2 < \frac{2\pi}{n^2 x} < \frac{\pi}{\lambda x}$, and $i^2 x < j^2 x < \frac{\pi}{\lambda}$. Therefore $\frac{\pi}{2} \le \tau \le \frac{\pi}{\lambda^2 n^{14}} > \cos(\tau + i^2 x) < \cos(\tau + j^2 x)$

and

$$0 \le \tau \le \frac{\pi}{2} \Rightarrow \cos(\tau + i^2 x) > \cos(\tau + j^2 x),$$

for all x such that $0 < x < \frac{2\pi}{\lambda^2 n^{14}}$. Since S(i) = S(j) and $\frac{dS(i)}{dx} = \frac{dS(j)}{dx}$ at $x = 0, \frac{-\pi}{2} \le \tau \le \frac{-\pi}{\lambda} \Rightarrow S(i) < S(j)$ and $0 \le \tau \le \frac{\pi}{2} \Rightarrow S(i) > S(j)$ for all x such that $0 < x < \frac{2\pi}{\lambda^2 n^{14}}$. Therefore, either $i < j \Rightarrow S(i) < S(j)$ for all $i, j \le \lambda c$ or $i < j \Rightarrow S(i) > S(j)$ for all $i, j \le \lambda c$. Therefore

$$\begin{split} |\sum_{k=0}^{c-1} \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right]| &< |S(\mu) - S(\lambda c + \mu)| \\ &< |x \cos \tau - S(\lambda c + \mu)| < |x[\cos \tau - \cos(\tau + (\lambda c + \mu)^2 x)]| \\ &< (\lambda c + \mu)^2 x^2 < \frac{2\pi x}{n^2}. \quad \text{All } k < c \text{ can therefore be disregarded} \end{split}$$

in calculating the value of $\sum_{k=0}^{b-1} [S(\lambda k + \mu) - S(\lambda k + \nu)]$.

Now we will consider values of k from c to b-1, but first we need the following lemma:

Lemma 3. For all integers i > 4,

$$|S(i) - 2S(i+1) + S(i+2)| < 11ix^3 + 16x^2 + \frac{6x}{i^2} + \frac{16}{i^4}$$

Proof

$$\begin{split} \frac{\sin[(i+1)^2x+\tau] - \sin\tau}{i^2} &- \frac{\sin[(i+1)^2x+\tau] - \sin\tau}{(i+1)^2} \\ &= \frac{(2i+1)\sin[(i+1)^2x+\tau]}{i^2(i+1)^2} - \frac{(2i+1)\sin\tau}{i^2(i+1)^2}. \\ S(i) - S(i+1) &= \frac{\sin(i^2x+\tau) - \sin\tau}{i^2} - \frac{\sin[(i+1)^2x+\tau] - \sin\tau}{i^2} \\ &- \frac{(2i+1)\sin[(i+1)^2x+\tau]}{i^2(i+1)^2} + \frac{(2i+1)\sin\tau}{i^2(i+1)^2} \\ &= \frac{\sin(i^2x+\tau) - \sin[(i+1)^2x+\tau]}{i^2} - \frac{(2i+1)\sin[(i+1)^2x+\tau]}{i^2(i+1)^2} \\ &+ \frac{(2i+1)\sin\tau}{i^2(i+1)^2}. \end{split}$$

For all x, say $x = x_1$, $\frac{\sin(i^2x + \tau)}{i^2} - \frac{\sin[(i+1)^2x + \tau]}{i^2} = -sr_1$ where $s = \frac{(i+1)^2x_1}{i^2} - x_1 = \frac{(2i+1)x_1}{i^2}$, and r_1 is the derivative of $\frac{\sin(i^2x + \tau)}{i^2}$ for some x between x_1 and $x_1 + s$. Let $f(x) = \frac{\sin(i^2x + \tau)}{i^2}$ and $g(x) = \frac{\sin[(i+1)^2x + \tau]}{(i+1)^2}$. For any x, r can be approximated as f'(x): $f''(x) = -i^2\sin(i^2x + \tau)$, $\max|f''(x)| = i^2$, $|r - f'(x)| \le i^2s = x(2i+1)$, $|\frac{\sin(i^2x + \tau)}{i^2} - \frac{\sin[(i+1)^2x + \tau]}{i^2} + \frac{f'(x)(2i+1)x}{i^2}|$ $< \frac{(2i+1)^2x^2}{3} < 5x^2 \text{ (for } i > 4).$

We have Inequality 1:

$$\begin{split} |S(i) - S(i+1) - \frac{(2i+1)\sin[(i+1)^2x + \tau]}{i^2(i+1)^2} \\ + \frac{(2i+1)\sin\tau}{i^2(i+1)^2} + \frac{f'(x)(2i+1)x}{i^2}| < 5x^2 \end{split}$$

Similarly, Inequality 2:

$$\begin{split} \mid S(i+1) - S(i+2) - \frac{(2i+3)\sin[(i+2)^2x + \tau]}{(i+1)^2(i+2)^2} \\ &+ \frac{(2i+3)\sin\tau}{(i+1)^2(i+2)^2} + \frac{g'(x)(2i+3)x}{(i+1)^2} \mid < 5x^2. \end{split}$$

Let
$$h(x) = \frac{\cos(i^2x + \tau)}{i^2}$$
.

Then

$$|\frac{\cos(i^2x+\tau)}{i^2} - \frac{\cos[(i+1)^2x+\tau]}{i^2} + \frac{h'(x)(2i+1)x}{i^2}| < 5x^2$$

and

$$\begin{split} |\cos(i^2x+\tau) - \cos[\,(i+1)^2x+\tau]\,| &< |\,h'(x)\,|\,(2i+1)x+5i^2x^2\\ &< (2i+1)x+5i^2x^2.\\ |\,f'(x) - g'(x)\,| &< (2i+1)x+5i^2x^2.\\ \\ \frac{g'(x)\,(2i+3)x}{(i+1)^2} - \frac{g'(x)\,(2i+1)x}{i^2} = \frac{2g'(x)x}{(i+1)^2} - \frac{(2i+1)^2g'(x)x}{i^2(i+1)^2}\\ &> \frac{-2g'(x)x}{i^2}.\\ |\,\frac{g'(x)\,(2i+3)x}{(i+1)^2} - \frac{g'(x)\,(2i+1)x}{i^2}\,| &< \frac{2x}{i^2}\\ |\,\frac{g'(x)\,(2i+1)x}{i^2} - \frac{f'(x)\,(2i+1)x}{i^2}\,| &< \frac{(2i+1)^2x^2}{i^2} + 5\,(2i+1)x^3. \end{split}$$

Inequality 3:

$$\begin{split} \mid \frac{g'(x) \, (2i+3)x}{(i+1)^2} - \frac{f'(x) \, (2i+1)x}{i^2} \mid & < \frac{2x}{i^2} + 5x^2 + 5(2i+1)x^3 \\ \frac{(2i+1)\sin\tau}{i^2 (i+1)^2} - \frac{(2i+3)\sin\tau}{(i+1)^2 (i+2)^2} = \frac{\left[(2i+1) \, (i+2)^2 - (2i+3) i^2\right] \sin\tau}{i^2 (i+1)^2 (i+2)^2} \\ & = \frac{\left[6i^2 + 12i + 4\right] \sin\tau}{i^2 (i+1)^2 (i+2)^2} \\ \mid & \frac{(6i^2 + 12i + 4) \sin\tau}{i^2 (i+1)^2 (i+2)^2} \mid < \mid \frac{(6i^2 + 12i + 4) \sin\tau}{i^3} \mid < \frac{10}{i^4}. \end{split}$$

Inequality 4:

$$\left| \frac{(2i+1)\sin\tau}{i^2(i+1)^2} - \frac{(2i+3)\sin\tau}{(i+1)^2(i+2)^2} \right| < \frac{10}{i^4}.$$

$$\begin{split} & | \frac{(2i+3)\sin[(i+2)^2x+\tau]}{(i+1)^2(i+2)^2} - \frac{(2i+1)\sin[(i+2)^2x+\tau]}{i^2(i+1)^2} | \\ & = | \frac{-(4i+4)(2i+3)\sin[(i+2)^2x+\tau]}{i^2(i+1)^2(i+2)^2} + \frac{2\sin[(i+2)^2x+\tau]}{i^2(i+1)^2} | \\ & < | \frac{6\sin[(i+2)^2x+\tau]}{i^4} | < \frac{6}{i^*} . \\ & | \frac{(2i+1)\sin[(i+1)^2x+\tau]}{i^2(i+1)^2} - \frac{(2i+1)\sin[(i+2)^2x+\tau]}{i^2(i+1)^2} | \\ & < \frac{g'(x)(2i+3)(2i+1)x}{i^2(i+1)^2} + \frac{(2i+3)^2(2i+1)x^2}{i^2(i+1)^2} < \frac{4x}{i^2} + \frac{10x^2}{i} . \end{split}$$

Inequality 5:

$$\left| \frac{(2i+3)\sin[(i+2)^2x+\tau]}{(i+1)^2(i+2)^2} - \frac{(2i+1)\sin[(i+1)^2x+\tau]}{i^2(i+1)^2} \right|$$

$$< \frac{6}{i^4} + \frac{4x}{i^2} + \frac{10x^2}{i}.$$

Adding inequalities 1 and 2, and substituting inequalities 3, 4, and 5, we get:

$$|S(i) - 2S(i+1) + S(i+2)| < 10x^{2} + \frac{2x}{i^{2}} + 5x^{2} + 5(2i+1)x^{3} + \frac{10}{i^{4}} + \frac{6}{i^{4}} + \frac{4x}{i^{2}} + \frac{10x^{2}}{i} < 11ix^{3} + 16x^{2} + \frac{6x}{i^{2}} + \frac{16}{i^{4}},$$

which is Lemma 3.

Corollary 3a. For all k > 2,

$$\begin{split} \big| \big[S(\lambda k + \mu) - S(\lambda k + \nu) \big] - \frac{\nu - \mu}{\lambda} \big[S(\lambda k + \mu) - S(\lambda (k+1) + \mu) \big] \big| \\ < 4\lambda^2 (11\lambda k x^3 + 16x^2 + \frac{6x}{\lambda^2 k^2} + \frac{16}{\lambda^4 k^4}). \end{split}$$

Proof. By induction, for all $j < 2\lambda$,

$$|S(\lambda k) - S(\lambda k + 1) - S(\lambda k + j) + S(\lambda k + j + 1)|$$

$$< 2\lambda (11\lambda k x^{3} + 16x^{2} + \frac{6x}{\lambda^{2}k^{2}} + \frac{16}{\lambda^{4}k^{4}}).$$

Therefore, taking the average of a sequence of terms of the form

$$S(\lambda k+j)-S(\lambda k+j+1); j<2\lambda,$$

$$|S(\lambda k) - S(\lambda k + 1) - \frac{1}{\lambda} [S(\lambda k + \mu) - S(\lambda(k+1) + \mu)] |$$

$$< 2\lambda (11\lambda kx^3 + 16x^2 + \frac{6x}{\lambda^2 k^2} + \frac{16}{\lambda^4 k^4}).$$

And for all $j < 2\lambda$,

$$\begin{split} \mid S(\lambda k + j) - S(\lambda k + j + 1) - \frac{1}{\lambda} \left[S(\lambda k + \mu) - S(\lambda (k + 1) + \mu) \right] \mid \\ < 4\lambda (11\lambda k x^3 + 16x^2 + \frac{6x}{\lambda^2 k^2} + \frac{16}{\lambda^4 k^4}), \end{split}$$

from which Corollary 3a follows immediately.

Now let a be the least integer $> \frac{1}{\lambda} \sqrt{\frac{\pi}{2x}}$. We will consider the values of k from c to a-1 and from a to b-1 separately.

Frst from c to a-1:

$$c \leq k \leq a - 1 \Rightarrow \frac{1}{\lambda n} \sqrt{\frac{\pi}{2x}} < k \leq \frac{1}{\lambda} \sqrt{\frac{\pi}{2x}}$$

$$k \leq \frac{1}{\lambda} \sqrt{\frac{\pi}{2x}} \Rightarrow 11kx^3 \leq 11x^3 \sqrt{\frac{\pi}{2x}} = \frac{11\pi x^2}{2} \sqrt{\frac{2x}{\pi}}$$

$$k > \frac{1}{\lambda n} \sqrt{\frac{\pi}{2x}} \Rightarrow \frac{6x}{\lambda^2 k^2} < 6n^2x(\frac{2x}{\pi}) = \frac{12n^2x^2}{\pi}$$

$$k > \frac{1}{\lambda n} \sqrt{\frac{\pi}{2x}} \Rightarrow \frac{16}{\lambda^4 k^4} < 16n^4(\frac{2x}{\pi})^2 = \frac{64n^4x^2}{\pi^2}.$$

Therefore $c \leq k \leq a-1 \Rightarrow$

$$\begin{split} & \left[\left[S(\lambda k + \mu) - S(\lambda k + \nu) \right] - \frac{\nu - \mu}{\lambda} \left[S(\lambda k + \mu) - S(\lambda (k+1) + \mu) \right] \right] \\ & < 4\lambda^2 \left(\frac{11\pi x^2}{2} \sqrt{\frac{2x}{\pi}} + 16x^2 + \frac{12n^2x^2}{\pi} + \frac{64n^4x^2}{\pi^2} \right) < 30n^4\lambda^2x^2, \end{split}$$

and

$$\begin{split} & \left| \sum_{k=0}^{a-1} \left\{ \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right] - \frac{\nu - \mu}{\lambda} \left[S(\lambda k + \mu) - S(\lambda (k+1) + \mu) \right] \right\} \right| \\ & < (a-1)30n^4 \lambda^2 x^2 \leq 30n^4 \lambda x^2 \sqrt{\frac{\pi}{2x}} = 15\pi n^4 \lambda x \sqrt{\frac{\pi}{2x}} \\ & < 15\pi n^4 \lambda x (\frac{2}{\lambda n^7}) = \frac{30\pi x}{n^3}. \end{split}$$

Next, the values of k from a to b-1:

$$a \leq k \leq b - 1 \Rightarrow \frac{1}{\lambda} \sqrt{\frac{\pi}{2x}} < k \leq \frac{\pi}{n\lambda^2 x}$$

$$k \leq \frac{\pi}{n\lambda^2 x} \Rightarrow 11\lambda k x^3 \leq \frac{11\pi x^2}{2\lambda n}$$

$$k > \frac{1}{\lambda} \sqrt{\frac{\pi}{2x}} \Rightarrow \frac{6x}{\lambda^2 k^2} < \frac{12x^2}{\pi}$$

$$k > \frac{1}{\lambda} \sqrt{\frac{\pi}{2x}} \Rightarrow \frac{16}{\lambda^4 k^4} < \frac{64x^2}{\pi^2}.$$

Therefore, $a \leq k \leq b-1 \Rightarrow$

$$\begin{split} \big| \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right] - \frac{\nu - \mu}{\lambda} \left[S(\lambda k + \mu) - S(\lambda(k+1) + \mu) \right] \big| \\ < 4\lambda^2 \left(\frac{11\pi x^2}{2\lambda n} + 16x^2 + \frac{12x^2}{\pi} + \frac{64x^2}{\pi^2} \right) < 120\lambda^2 x^2 \end{split}$$

and

$$|\sum_{k=a}^{b-1} \{ [S(\lambda k + \mu) - S(\lambda k + \nu)] - \frac{\nu - \mu}{\lambda} [S(\lambda k + \mu) - S(\lambda (k+1) + \mu)] \} |$$

$$< (b-1) 120 \lambda^2 x^2 \le \frac{120\pi x}{n}.$$

Combining both sums,

$$|\sum_{k=0}^{b-1} \{ [S(\lambda k + \mu) - S(\lambda k + \nu)] - \frac{\nu - \mu}{\lambda} [S(\lambda k + \mu) - S(\lambda(k+1) + \mu)] \} |$$

$$< \frac{30\pi x}{n^3} + \frac{120\pi x}{n} < \frac{124\pi x}{n}.$$

Therefore,

$$\left|\sum_{k=c}^{b-1} \left[S(\lambda k + \mu) - S(\lambda k + \nu)\right] - \frac{\nu - \mu}{\lambda} \left[S(\lambda c + \mu) - S(\lambda b + \mu)\right]\right| < \frac{124\pi x}{n}.$$

And finally, since $S(\lambda c + \mu) - x \cos \tau$ is on the order of $\frac{x}{n^2}$, and $S(\lambda b + \mu)$ $< \frac{1}{\lambda^2 b^2} < \frac{x}{n^{12}}$,

$$\big|\sum_{k=0}^{b-1} \big[S(\lambda k + \mu) - S(\lambda k + \nu)\big] - \big(\frac{\nu - \mu}{\lambda}\big)x\cos\tau\big| < \frac{125\pi x}{n}.$$

4. Values of k greater than or equal to b. Since $S(\lambda k + \mu) - S(\lambda k + \nu)$

ranges approximately from $\frac{-2}{\lambda^2 k^2}$ to $\frac{2}{\lambda^2 k^2}$ and $\sum_{k=b}^{\infty} \frac{2}{\lambda^2 k^2} > \frac{2}{\lambda^2 b} \approx \frac{2nx}{\pi}$, if we are to prove that $\sum_{k=b}^{\infty} \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right]$ is much less than x, we must show that there is a reasonably symmetric distribution of the values of $S(\lambda k + \mu) - S(\lambda k + \nu)$ within that range, so that the positive and negative values nearly cancel each other out.

Now the value of $S(\lambda k + \mu) - S(\lambda k + \nu)$ within the range from $\frac{-2}{\lambda^2 k^2}$ to $\frac{2}{\lambda^2 k^2}$ depends on the phases of $S(\lambda k + \mu)$ and $S(\lambda k + \nu)$ at x. The phase difference between $S(\lambda k + \mu)$ and $S(\lambda k + \nu)$ tends to remain constant over long sequences of consecutive integers k, but in general the phase of $S(\lambda k + \mu)$ will cover a broad range of values, evenly distributed between 0° and 360° , unless the phase difference between $S(\lambda k + \mu)$ and $S(\lambda (k + 1) + \mu)$ (which also tends to remain constant over long sequences of k) is close to a fraction of 360° with a small denominator, so that every few integers the phase of $S(\lambda k + \mu)$ repeats itself.

We will define a set K consisting of those values of k for which this phase difference is sufficiently close to a fraction with a small denominator, and then show that there are not enough elements of K to significantly affect the value of $\sum_{k=1}^{\infty} \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right]$.

We define K such that:

 $k \in K \iff \exists \text{ integers } i, j \text{ such that } j < n^2$

and

$$|k - \frac{2\pi i}{\lambda^2 x j}| \leq \frac{4n}{\lambda} \sqrt{\frac{\pi}{2x}}.$$

First we will show that if Q is a subset of K, then

$$\left|\sum_{\substack{k \in Q \\ k \ge b}} \left[S(\lambda k + \mu) - S(\lambda k + \nu)\right]\right| < \frac{20x}{\pi n}.$$

We partition the set of integers $\geq b$ into an infinite number of disjoint subsets of the form S_m such that

$$k \in S_m \iff \frac{\pi m}{n^4 \lambda^2 x} < k \leqq \frac{\pi (m+1)}{n^4 \lambda^2 x}.$$

Now,
$$\frac{i_1}{j_1} - \frac{i_2}{j_2} = \frac{i_1 j_2 - i_2 j_1}{j_1 j_2}$$

 $\frac{i_1}{j_1} \neq \frac{i_2}{j_2} \Rightarrow i_1 j_2 - i_2 j_1 \neq 0 \Rightarrow |i_1 j_2 - i_2 j_1| \ge 1.$
Therefore, if $j_1, j_2 < n^2$, then $\frac{i_1}{j_1} \neq \frac{i_2}{j_2} \Rightarrow |\frac{i_1}{j_1} - \frac{i_2}{j_2}| > \frac{1}{n^4}$
and $|\frac{2\pi i_1}{\lambda^2 r_1 i_1} - \frac{2\pi i_2}{\lambda^2 r_2 i_2}| > \frac{2\pi}{n^4 \lambda^2 r}.$

Therefore, for each m, there exists at most one i and j such that

$$\frac{\pi(m-\frac{1}{2})}{n^4\lambda^2x}<\frac{2\pi i}{\lambda^2xj}\leqq\frac{\pi(m+\frac{3}{2})}{n^4\lambda^2x}.$$

In other words, for each S_m , there exists at most one i and j such that

$$\exists k \in S_m \text{ such that } | k - \frac{2\pi i}{\lambda^2 x j} | < \frac{\pi}{2n^4 \lambda^2 x}.$$

Since $0 < x < \frac{2\pi}{\lambda^2 n^{14}}, \frac{\pi}{2n^4\lambda^2 x} > \frac{n^3}{2\lambda} \sqrt{\frac{\pi}{2x}} > \frac{4n}{\lambda} \sqrt{\frac{\pi}{2x}}$, so there exists at most on i and j such that

$$\exists k \in S_m \text{ such that } | k - \frac{2\pi i}{\lambda^2 x j} | < \frac{4n}{\lambda} \sqrt{\frac{\pi}{2x}}.$$

Therefore there exist at most $\frac{8n}{\lambda}\sqrt{\frac{\pi}{2x}}$ elements of K in each S_m , which implies that there exists no more than $\frac{8n}{\lambda}\sqrt{\frac{\pi}{2x}}$ elements of Q in each S_m if Q is any subset of K.

$$k \in S_m \Rightarrow |S(\lambda k + \mu)| \text{ and } |S(\lambda k + \nu)| \text{ are both } < \frac{1}{\lambda^2 k^2} < \frac{n^8 \lambda^2 x^2}{\pi^2 m^2}.$$

Therefore, $\left|\sum_{k \in S_m \cap Q} \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right] \right| < \left(\frac{16n}{\lambda} \sqrt{\frac{\pi}{2x}} \right) \left(\frac{n^8 \lambda^2 x^2}{\pi^2 m^2} \right)$. Since all elements of S_m are $\geq b > \frac{\pi}{n\lambda^2 x}$, $m \geq n^3$. Therefore

$$\begin{split} |\sum_{k \in S_m \cap Q} [S(\lambda k + \mu) - S(\lambda k + \nu)]| &< (\frac{18n}{\lambda} \sqrt{\frac{\pi}{2x}}) \left(\frac{n^8 \lambda^2 x^2}{\pi^2 (m+1)^2}\right) \\ &= (\frac{18n}{\lambda^3} \sqrt{\frac{\pi}{2x}}) \left(\frac{n^4 \lambda^2 x}{\pi (m+1)}\right)^2. \end{split}$$

Since there are more than $\frac{\pi}{n^4\lambda^2x}-1$ elements of S_m , all of them $<\frac{\pi(m+1)}{n^4\lambda^2x}$,

$$\begin{split} \left(\frac{18n}{\lambda^{3}}\sqrt{\frac{\pi}{2x}}\right) \left(\frac{n^{4}\lambda^{2}x}{\pi(m+1)}\right)_{2} < \frac{\left(\frac{18n}{\lambda^{3}}\sqrt{\frac{\pi}{2x}}\right)}{\left(\frac{\pi}{n^{4}\lambda^{2}x}-1\right)} \sum_{k \in S_{m}} \frac{1}{k^{2}} < \frac{\left(\frac{19n}{\lambda^{3}}\sqrt{\frac{\pi}{2x}}\right)}{\left(\frac{\pi}{n^{4}\lambda^{2}x}\right)} \sum_{k \in S_{m}} \frac{1}{k^{2}} \\ = \frac{19n^{5}}{2\lambda} \sqrt{\frac{2x}{\pi}} \sum_{k \in S_{m}} \frac{1}{k^{2}} < \frac{19}{\lambda^{2}n^{2}} \sum_{k \in S_{m}} \frac{1}{k^{2}}. \end{split}$$

Now we need a lemma, whose obvious proof we leave to the reader.

Lemma 4. For all integers
$$N \ge 2$$
, $\sum_{k=N}^{\infty} \frac{1}{k^2} < \frac{1}{N-1}$.

Combining all S_m , and applying Lemma 4,

$$\begin{split} |\sum_{\substack{k \in Q \\ k \ge b}} [S(\lambda + \mu) - S(\lambda k + \nu)]| &< \frac{19}{\lambda^2 n^2} \sum_{k=b}^{\infty} \frac{1}{k^2} < \frac{19}{n^2 \lambda^2 (b - 1)} < \frac{20}{n^2 \lambda^2 b} \\ &< \frac{20x}{\pi^n}. \end{split}$$

Now we produce a set Q which is a subset of K and proceed to demonstrate that

$$\left| \sum_{\substack{k \notin Q \\ k \ge b}} \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right] \right| < \frac{69x}{n}.$$

We define Q as the set of all integers $\geq b$ not belonging to one of an infinite sequence of disjoint sets of the form R_u , which together include all integers $\geq b$ which are not elements of K, as well as some integers which are elements of K. We define R_u in the following manner: Let t_1 — the least integer $\geq b$ which is not an element of K. Let j_u — the least integer such that there exists an integer i such that

$$|j_u t_u - \frac{2\pi i}{\lambda^2 x}| \leq \frac{4n}{\lambda} \sqrt{\frac{\pi}{2x}}.$$

Let t_{u+1} = the least integer $\geq t_u + j_u$ which is not an element of K. Let R_u be the sets consisting of the j_u consecutive integers starting with t_u .

Note that no t_u is an element of K, and therefore, for all u, $j_u \ge n^2$. Notes furthermore that, for all u,

$$j_u \leq \frac{\left(\frac{2\pi}{\lambda^2 x}\right)}{\left(\frac{4n}{\lambda}\sqrt{\frac{\pi}{2x}}\right)} = \frac{1}{\lambda n}\sqrt{\frac{\pi}{2x}}.$$

Therefore, each R_u must have at least n^2 but no more than $\frac{1}{\lambda n} \sqrt{\frac{\pi}{2x}}$ elements.

We will now prove that for each u,

$$\left|\sum_{k \in R_u} \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right] \right| < \frac{67\pi j_u}{\lambda^2 t_u^2 n^2}.$$

In the following discussion, t and j will represent respectively any t_u and j_u . Let $f_z(x) = S[\lambda(t+z)]$ for any integer z. There exists a unique real number α such that $0 \le \alpha < \frac{2\pi}{\lambda^2 t^2}$ and such that

$$f'_0(x-\alpha) = 1.$$

Let p be any integer such that $0 \le p < j$. Then there exists a unique ψ_p such that $0 \le \psi_p < \frac{2\pi}{\lambda^2(t+p)^2} \le \frac{2\pi}{\lambda^2t^2}$ and such that $f'_p(x-\alpha-\psi_p) = 1$.

Let
$$\beta_p = (x - \alpha - \psi_p) (1 - \frac{(t+p)^2}{(t+p+1)^2}) = (x - \alpha - \psi_p) (\frac{2(t+p)+1}{(t+p+1)^2}).$$

Then $f'_{p+1}(x-\alpha-\psi_p-\beta_p)=1$. Since $t+p \ge t \ge b > \frac{\pi}{n\lambda^2 x}$.

$$\alpha < \frac{2nx}{t}$$
, $\psi_p < \frac{2nx}{t}$, and $\alpha + \psi_p < \frac{4nx}{t}$

$$(\alpha + \psi_p) \left(\frac{2(t+p)+1}{(t+p+1)^2} \right) < \frac{2(\alpha + \psi_p)}{t} < \frac{8nx}{t^2}$$

$$|\beta_p - x(\frac{2(t+p)+1}{(t+p+1)^2})| < 2\frac{8nx}{t^2}$$

$$(\frac{2(t+p)+1}{t^2})-(\frac{2(t+p)+1}{(t+p+1)^2})$$

$$=\frac{(2t+2p+1)(2tp+2t+p^2+2p+1)}{t^2(t+p+1)^2} < \frac{4(p+1)}{t^2}$$

$$|\beta_p - x(\frac{2(t+p)+1}{t^2})| < \frac{8nx}{t^2} + \frac{4(p+1)x}{t^2}$$

$$|\beta_{p} - \frac{2x}{t}| < \frac{8nx}{t^{2}} + \frac{4(p+1)x}{t^{2}} + \frac{(2p+1)x}{t^{2}} < \frac{[8n+6(p+1)]x}{t^{2}}$$

$$<\frac{7x}{\lambda n t^2} \sqrt{\frac{\pi}{2x}} < \frac{7\pi}{2\lambda n t^2} \sqrt{\frac{2x}{\pi}}, \text{ since } n <<\frac{1}{\lambda n} \sqrt{\frac{\pi}{2x}} \text{ and } p < \frac{1}{\lambda n} \sqrt{\frac{\pi}{2x}}.$$

Let $\theta_p = \sum_{z=0}^{p-1} \beta_z$. Then $f'_p(x - \alpha - \theta_p) = 1$. Therefore, there exists an integer N such that $\theta_p = \psi_p + \frac{2\pi N}{\lambda^2 (t+p)^2}$. Now

$$\mid heta_p - rac{2px}{t} \mid < rac{7\pi p}{2\lambda n t^2} \sqrt{rac{2x}{\pi}} < rac{7\pi}{2\lambda^2 n^2 t^2},$$

so that there exists N such that $|\psi_p + \frac{2\pi N}{\lambda^2 (t+p)^2} - \frac{2px}{t}| < \frac{7\pi}{2\lambda^2 n^2 t^2}$. Now,

$$\left| \frac{2\pi N}{\lambda^{2}(t+p)^{2}} \right| < \max(\psi_{p}, \frac{2px}{t}) + \frac{7\pi}{2\lambda^{2}n^{2}t^{2}}
< \max(\frac{2\pi}{\lambda^{2}t^{2}}, \frac{\pi}{\lambda nt}\sqrt{\frac{2c}{\pi}}) + \frac{7\pi}{2\lambda^{2}n^{2}t^{2}}
< \max(\frac{2\pi}{\lambda^{2}t^{2}}, \frac{\pi}{\lambda^{2}n^{2}tp}) + \frac{7\pi}{2\lambda^{2}n^{2}t^{2}} < \frac{2\pi}{\lambda^{2}n^{2}p(t+p)},$$

since $n^2p \ll t$, and

$$|\frac{2\pi N}{\lambda^2 t^2} - \frac{2\pi N}{\lambda^2 (t+p)^2}| = |\frac{2\pi N}{\lambda^2}| \frac{2tp+p^2}{t^2 (t+p)^2} < \frac{4\pi}{\lambda^2 n^2 t^2}.$$

So there exists N such that

$$|\psi_p + \frac{2\pi N}{\lambda^2 t^2} - \frac{2px}{t}| < \frac{15\pi}{2\lambda^2 n^2 t^2}$$

which implies

$$|\frac{t^2\lambda^2\psi_p}{2\pi} + N - \frac{\lambda^2tpx}{\pi}| < \frac{4}{n^2}.$$

Now there exists i such that

$$|jt - \frac{2\pi i}{\lambda^2 x}| \leq \frac{4n}{\lambda} \sqrt{\frac{\pi}{2x}}$$

There exists i such that

$$\mid t + \frac{2\pi i}{\lambda^2 x j} \mid \leq \frac{4n}{\lambda j} \sqrt{\frac{\pi}{2x}} < \frac{4}{\lambda n} \sqrt{\frac{\pi}{2x}} \text{ since } j \geq n^2.$$

There exists i such that

$$|\frac{\lambda^2 t p x}{\pi} - \frac{2pi}{j}| \leqq \frac{2\lambda p}{n} \sqrt{\frac{2x}{\pi}} < \frac{2}{n^2}$$

Therefore there exists i such that

$$|\frac{t^2\lambda^2\psi_\rho}{2\pi} + N - \frac{2pi}{j}| < \frac{6}{n^2}.$$

$$0 \leq \frac{t^2\lambda^2\psi_\rho}{2\pi} < 1, \text{ since } 0 \leq \psi_\rho < \frac{2\pi}{\lambda^2t^2}. \text{ Therefore } \frac{-6}{n^2} < \frac{2pi}{j} - N < 1 + \frac{6}{n^2}.$$

We define q_p and ω_p as follows:

Let
$$q_p = 2pi - Nj$$
 and $\omega_p = \psi_p$ if $0 \le \frac{2pi}{i} - N < 1$.

Let
$$q_p = 2pi - (N+1)j$$
 and $\omega_p = \psi_p - \frac{2\pi}{\lambda^2(t+p)^2}$ if $\frac{-6}{n^2} < \frac{2pi}{j} - N < 0$.

Let
$$q_p = 2pi - (N-1)j$$
 and $\omega_p = \psi_p + \frac{2\pi}{\lambda^2(t+p)^2}$ if

$$1 \le \frac{2pi}{j} - N < 1 + \frac{6}{n^2}.$$

Then $f'_p(x-\alpha-\omega_p)=1$, $0\leq \frac{q_p}{i}<1$, and, since

$$1-\frac{t^2}{(t+p)^2} <<\frac{1}{n^2}, \ |\frac{t^2\lambda^2\omega_p}{2\pi}-\frac{q_p}{j}|<\frac{7}{n^2}.$$

Now i must be prime relative to j, since j is the least integer such that

$$|jt - \frac{2\pi i}{\lambda^2 x}| \leq \frac{4n}{\lambda} \sqrt{\frac{\pi}{2x}}.$$

If j is odd, then 2i is prime relative to j. If j is even, then i is prime relative to $\frac{j}{2}$.

In the former case, as p takes on every value from 0 to j-1, q_p takes on every value from 0 to j-1. In the latter case, q_p takes on every even value from 0 to j-2 twice. In either case, each element p of the set of integers from 0 to j-1 can be paired with another element, p^* (except that one p will remain unpaired if j is odd) such that

$$|q_p - q_{p^*} - \frac{j}{2}| \le 1$$
 (or $|q_{p^*} - q_p - \frac{j}{2}| \le 1$).

Then

$$|rac{q_p}{j} - rac{q_{p^*}}{j} - rac{1}{2}| \leqq rac{1}{j} \leqq rac{1}{n^2}$$

and, since

$$|\frac{t^2\lambda^2\omega_p}{2\pi} - \frac{q_p}{j}|$$
 and $|\frac{t^2\lambda^2\omega_{p^*}}{2\pi} - \frac{q_{p^*}}{j}|$

are both $<\frac{7}{n^2}$

$$|\frac{t^2\lambda^2\omega_p}{2\pi}-\frac{t^2\lambda^2\omega_{p^*}}{2\pi}-\frac{1}{2}|<\frac{15}{n^2}$$

Now, let
$$g_p(x) = S[\lambda(t+p) + \mu]$$
,
let $h_p(x) = S[\lambda(t+p) + \nu]$,
let $\mathcal{O}_p(x) = (x - \alpha - \omega_p) \left(1 - \frac{\lambda^2(t+p)^2}{[\lambda(t+p) + \mu]^2}\right)$,
and let $r_p(x) = (x - \alpha - \omega_p) \left(1 - \frac{\lambda^2(t+p)^2}{[\lambda(t+p) + \nu]^2}\right)$.

Then $g'_p(x-\alpha-\omega_p-\emptyset_p)=1$ and $h'_p(x-\alpha-\omega_p-r_p)=1$. Using a line of reasoning exactly parallel to the case of β_p , we get

$$\mid \varnothing_p - \frac{2\mu x}{\lambda t} \mid < \frac{7\pi}{2\lambda n t^2} \sqrt{\frac{2x}{\pi}} \text{ and } \mid r_p - \frac{2\nu x}{\lambda t} \mid < \frac{7\pi}{2\lambda n t^2} \sqrt{\frac{2x}{\pi}}.$$

Therefore,

$$\mid \frac{t^2 \lambda^2 \not \bigcirc_p}{2\pi} - \frac{t^2 \lambda^2 \not \bigcirc_{p^*}}{2\pi} \mid \text{ and } \mid \frac{t^2 \lambda^2 r_p}{2\pi} - \frac{t^2 \lambda^2 r_{p^*}}{2\pi} \mid$$

are both
$$<\frac{7}{2}\sqrt{\frac{2x}{\pi}}$$
.

Now

$$g_p(x) + \frac{\sin \tau}{[\lambda(t+p) + \mu]^2} = \frac{\sin[\lambda(t+p) + \mu]^2(\alpha + \omega_p + \emptyset_p)}{[\lambda(t+p) + \mu]^2}$$

and
$$\alpha + \omega_p + \emptyset_p < \frac{3x}{t}$$
, so

$$|g_{p}(x) + \frac{\sin \tau}{[\lambda(t+p) + \mu]^{2}} - \frac{\sin \lambda^{2} t^{2} (\alpha + \omega_{p} + \emptyset_{p})}{\lambda^{2} t^{2}}|$$

$$< \frac{3(p+1)x}{t^{2}} < \frac{3\pi}{2\lambda n t^{2}} \sqrt{\frac{2x}{\pi}}.$$

Now

$$\mid \frac{t^2 \lambda^2 (\alpha + \omega_p + \emptyset_p)}{2\pi} - \frac{t^2 \lambda^2 (\alpha + \omega_{p^*} + \emptyset_{p^*})}{2\pi} - \frac{1}{2} \mid < \frac{15}{n^2} + \frac{7}{2} \sqrt{\frac{2x}{\pi}} < \frac{16}{n^2}.$$

Therefore,

$$\left|\frac{\sin\lambda^2 t^2 (\alpha + \omega_p + \emptyset_p)}{\lambda^2 t^2} - \frac{\sin\lambda^2 t^2 (\alpha + \omega_{p^*} + \emptyset_{p^*})}{\lambda^2 t^2}\right| < \frac{32\pi}{n^2 \lambda^2 t^2},$$

and

$$|g_{p}(x) + g_{p^{*}}(x) + \frac{\sin \tau}{[\lambda(t+p) + \mu]^{2}} + \frac{\sin \tau}{[\lambda(t+p^{*}) + \mu]^{2}}|$$

$$< \frac{3\pi}{\lambda n t^{2}} \sqrt{\frac{2x}{\pi}} + \frac{32\pi}{n^{2}\lambda^{2}t^{2}}.$$

Finally,

$$|g_p(x) + g_{p^*}(x) + \frac{2\sin\tau}{\lambda^2 t^2}| < \frac{2}{\lambda t^2} \sqrt{\frac{2x}{\pi}} + \frac{3\pi}{\lambda n t^2} \sqrt{\frac{2x}{\pi}} + \frac{32\pi}{n^2 \lambda^2 t^2} < \frac{33\pi}{n^2 \lambda^2 t^2}.$$

Similarly,

$$|h_p(x) + h_{p^*}(x) + \frac{2\sin\tau}{\lambda^2 t^2}| < \frac{33\pi}{n^2\lambda^2 t^2}.$$

Therefore, $|g_p(x) - h_p(x) + g_{p^*}(x) - h_{p^*}(x)| < \frac{66\pi}{n^2\lambda^2t^2}$. Summing over all p < j, including the unpaired p:

$$\begin{split} & |\sum_{k \in R_{\mathbf{u}}} [S(\lambda k + \mu) - S(\lambda k + \nu)] | < \frac{66\pi j}{n^2 \lambda^2 t^2} + \frac{1}{\lambda^2 t^2} = \frac{66\pi j}{n^2 \lambda^2 t^2} + \frac{n^2}{n^2 \lambda^2 t^2} < \frac{67\pi j}{n^2 \lambda^2 t^2}. \\ & \text{Since } j < < t, \end{split}$$

$$<\frac{67\pi j}{n^2\lambda^2t^2}<\frac{68\pi j}{n^2\lambda^2(t+j)^2}<\frac{68\pi}{n^2\lambda^2}\sum_{k\in R_u}\frac{1}{k^2}.$$

Summing over all R_u and applying Lemma 4:

$$\left| \sum_{\substack{k \notin Q \\ k \ge b}} \left[S(\lambda k + \mu) - S(\lambda k + \nu) \right] \right| < \frac{68\pi}{n^2 \lambda^2} \sum_{\substack{k \notin Q \\ k \ge b}} \frac{1}{k^2} < \frac{68\pi}{n^2 \lambda^2} \sum_{k=b}^{\infty} \frac{1}{k^2} < \frac{68\pi}{n^2 \lambda^2} \sum_{k=b}^{\infty} \frac{1}{k^2} < \frac{68\pi}{n^2 \lambda^2} < \frac{69\pi}{n^2 \lambda^2 (b-1)} < \frac{69\pi}{n^2 \lambda^2 b} < \frac{69\pi}{n}.$$

Finally,

$$\left|\sum_{k=n}^{\infty} \left[S(\lambda k + \mu) - S(\lambda k + \nu)\right]\right| < \frac{20x}{\pi n} + \frac{69x}{n} < \frac{76x}{n}.$$

5. Proof of Lemma 2. For all integers $k \ge 0$, the function

$$f(x) = \frac{\left[\cos \tau \sin (\lambda k + \mu)^2 x\right] + \sin \tau}{(\lambda k + \mu)^2}$$

has the same period and is tangent at zero to the function

$$g(x) = \frac{\sin[(\lambda k + \mu)^2 x + \tau]}{(\lambda k + \mu)^2}.$$

Therefore, $0 \le \tau \le \pi \Rightarrow f(x) \ge g(x)$ for all x, and $\pi \le \tau < 2\pi \Rightarrow f(x) \le g(x)$ for all x. Clearly, then, in order to prove Lemma 2, it will be sufficient to prove that $\sum_{k=0}^{\infty} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2}$ has a derivative of $+\infty$ at x = 0.

First we need a lemma, which we will not prove here:

LEMMA 5. For all i, and all x s.t.
$$0 < x < \frac{\pi}{2i^2}$$

$$\frac{\sin i^2 x}{i^2 x} > \frac{2}{\pi}.$$

We will also use Lemma 4 from Section 4.

We introduce the following two functions of x, defined for all x > 0: Let m = the least positive integer such that $\frac{\pi}{2(\lambda m + \mu)^2} \leq x$. Let a = the least integer such that $\lambda a + \mu > \sqrt{2}[\lambda(m-1) + \mu]$. Now we will prove that, given any positive integer n, there exists a positive integer M such that

$$0 < x < \frac{\pi}{2(\lambda M + \mu)^2} \Rightarrow \sum_{k=0}^{\infty} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2} > nx.$$

We will examine the series $\sum_{k=0}^{\infty} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2}$ in four parts; the sum from 0 n, from n+1 to m-1, from m to a-1, and from a to ∞ . First, for all integers k, $\lim_{x\to 0} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2 x} = 1$; $x \neq 0$. Therefore, given any positive integer n, $\exists \delta > 0$ s.t. for all k s.t. $0 \leq k \leq n$,

$$|x| < \delta \Rightarrow |\frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2 x} - 1| < \frac{1}{n+1}$$
$$\Rightarrow \frac{nx}{n+1} < \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2}; x \neq 0.$$

This implies that $|x| < \delta \Rightarrow \sum_{k=0}^{n} \frac{\sin(\lambda k + \mu)^{2} x}{(\lambda k + \mu)^{2}} > nx$. For such a δ , let M = the least positive integer such that

$$\frac{\pi}{2(\lambda M + \mu)^2} < \min\left(\delta, \frac{\pi}{2\lceil 14(\lambda n + \mu) \rceil^2}\right)$$

Now $\forall x > 0$, $x < \frac{\pi}{2\lceil \lambda(m-1) + \mu \rceil^2}$. Then, from Lemma 5,

$$k \leq m - 1 \Rightarrow 0 < x < \frac{\pi}{2(\lambda k + \mu)^{2}}$$

$$\Rightarrow \frac{\sin(\lambda k + \mu)^{2}x}{(\lambda k + \mu)^{2}x} > \frac{2}{\pi} \Rightarrow \frac{\sin(\lambda k + \mu)^{2}x}{(\lambda k + \mu)^{2}} > \frac{2x}{\pi} > \frac{1}{(\lambda m + \mu)^{2}},$$

$$0 < x < \frac{\pi}{2(\lambda M + \mu)^{2}} \Rightarrow m - 1 \geq M \Rightarrow m - 1 > 14n \Rightarrow m - 1 > n + 1,$$

$$0 < x < \frac{\pi}{2(\lambda M + \mu)^{2}} \Rightarrow \sum_{k=n+1}^{m-1} \frac{\sin(\lambda k + \mu)^{2}x}{(\lambda k + \mu)^{2}} > \frac{(m-1) - n}{(\lambda m + \mu)^{2}} \geq \frac{m - 2n}{(\lambda m + \mu)^{2}}.$$

Next,

$$\forall x > 0, \ k < a \Rightarrow \lambda k + \mu < \sqrt{2} [\lambda(m-1) + \mu]$$

$$\Rightarrow \frac{\pi}{(\lambda k + \mu)^2} > \frac{\pi}{2[\lambda(m-1) + \mu]^2} > x > 0 \Rightarrow \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2} > 0.$$

Therefore, $\forall x > 0$, $m < a \Rightarrow \sum_{k=m}^{a-1} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2} > 0$.

Finally,

$$\forall x, \forall k, |\frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2}| \leq \frac{1}{(\lambda k + \mu)^2},$$

and, from Lemma 4,

$$\begin{aligned} \forall x > 0, & |\sum_{k=a}^{\infty} \frac{\sin(\lambda k + \mu)^{2} x}{(\lambda k + \mu)^{2}} | \\ \leq & \sum_{k=a}^{\infty} |\frac{\sin(\lambda k + \mu)^{2} x}{(\lambda k + \mu)^{2}} | \leq & \sum_{k=a}^{\infty} \frac{1}{(\lambda k + \mu)^{2}} < \sum_{k=a}^{\infty} \frac{1}{(\lambda k)^{2}} \\ < & \frac{1}{\lambda^{2} (a - 1)} < \frac{1}{\lambda (\lambda a + \mu - 2\lambda)} < \frac{1}{\lambda \lceil \sqrt{2} (\lambda m + \mu) - (\sqrt{2} + 2)\lambda \rceil}. \end{aligned}$$

Now, since $m-1>14n,\ m>15$ and $(\sqrt{2}+2)<\frac{\lambda m}{4}<\frac{\lambda m+\mu}{4}$. Therefore

$$\frac{1}{\lambda[\sqrt{2}(\lambda m + \mu) - (\sqrt{2} + 2)\lambda]} < \frac{1}{\lambda(\sqrt{2} - \frac{1}{4})(\lambda m + \mu)} < \frac{6}{7\lambda(\lambda m + \mu)}.$$
 Also,

$$\frac{m-2n}{(\lambda m+\mu)^2} > \frac{(\lambda m+\mu)-2\,(\lambda n+\mu)}{\lambda\,(\lambda m+\mu)^2} > \frac{6}{7\lambda\,(\lambda m+\mu)}.$$

Therefore,

$$0 < x < \frac{\pi}{2(\lambda M + \mu)^2} \Rightarrow \sum_{k=n+1}^{m-1} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2} > |\sum_{k=a}^{\infty} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2}|,$$

which implies that

$$\sum_{k=n+1}^{m-1} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2} + \sum_{k=a}^{\infty} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2} > 0.$$

Adding the four parts of the series we get

$$0 < x < \frac{\pi}{2(\lambda M + \mu)^2} \Rightarrow \sum_{k=0}^{\infty} \frac{\sin(\lambda k + \mu)^2 x}{(\lambda k + \mu)^2} > nx,$$

which implies that the right derivative at zero is equal to $+\infty$. But since

the right and left derivatives must be equal at zero, the full derivative is $+\infty$.

6. Differentiable point of the Riemann function. We can derive the following corollary from Lemma 1:

COROLLARY 1a. Let μ , ν , and λ be any integers s.t. $0 < \mu < \nu \leq \lambda$ and let τ be any real number. Then

$$\sum_{k=0}^{\infty} \left[\frac{\sin \left[\left(\lambda k + \mu \right)^2 x + \tau \right]}{\left(\lambda k + \mu \right)^2} - \frac{\sin \left[\left(\lambda k + \nu \right)^2 x + \tau \right]}{\left(\lambda k + \nu \right)^2} \right]$$

has a derivative of $(\frac{\nu - \mu}{\lambda})\cos \tau$ at zero.

Proof. For $\frac{\pi}{\lambda} \leq |\tau| \leq \frac{\pi}{2}$ or $\tau = 0$, the corollary follows directly from Lemma 1, since the left derivative of

$$\sum_{k=0}^{\infty} \left[\frac{\sin\left[\left(\lambda k + \mu \right)^2 x + \tau \right]}{(\lambda k + \mu)^2} - \frac{\sin\left[\left(\lambda k + \nu \right)^2 x + \tau \right]}{(\lambda k + \nu)^2} \right]$$

is equal to the right derivative of

$$\sum_{k=0}^{\infty} \left[\frac{\sin[(\lambda k + \mu)^2 x - \tau]}{(\lambda k + \mu)^2} - \frac{\sin[(\lambda k + \nu)^2 x - \tau]}{(\lambda k + \nu)^2} \right]$$

and $(\frac{\nu - \mu}{\lambda})\cos \tau = (\frac{\nu - \mu}{\lambda})\cos(-\tau)$. To extend this result to any real value of τ , simply multiply λ , μ , and ν by an appropriate constant.

Now we can consider the differentiability of $\sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2}$ at points of the form $\frac{A\pi}{B}$. First, what are the value and derivative of $\frac{\sin k^2 x}{k^2}$ at $\frac{A\pi}{B}$ for given k? Since $\frac{\sin k^2 x}{k^2}$ has a cycle of length $\frac{2\pi}{k^2}$, the value and derivative of $\frac{\sin k^2 x}{k^2}$ are the same at $\frac{A\pi}{B}$ and $\frac{\pi P_k}{k^2 B}$, where $Ak^2 \equiv P_k \mod 2B$. Therefore if, for two positive integers μ and ν , where $\mu < \nu \le 2B$, either $P_{\nu} = P_{\mu} + B$ or $P_{\mu} = P_{\nu} + B$, then $\sum_{k=0}^{\infty} \left(\frac{\sin(2Bk + \mu)^2 x}{(2Bk + \mu)^2} + \frac{\sin(2Bk + \nu)^2 x}{(2Bk + \nu)^2} \right)$ has a derivative of $(\frac{\nu - \mu}{2B})\cos\frac{\pi P_{\mu}}{B}$ at $\frac{A\pi}{B}$.

The following procedure, then, can be used to determine the existence and value of the derivative of $\sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2}$ at certain points of the form $\frac{A\pi}{B}$:

List the values of P_k for all k from 1 to 2B. If all the P_k can be paired off into (μ, ν) pairs s.t. $P_{\mu} + B = P_{\nu}$, then the derivative exists and is equal to the sum of $(\frac{\nu - \mu}{2B})\cos \frac{\pi P_{\mu}}{B}$ over all (μ, ν) pairs. If all P_k can be paired off except for certain values of k, and the sum of $\frac{\sin k^2 x}{k^2}$ taken over these values of k is known to be non-differentiable, then $\sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2}$ is not differentiable at $\frac{A\pi}{B}$. Now we are ready to prove the two theorems stated in Section 1.

Theorem 1. The derivative of $\sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2}$ at $\frac{(2A+1)\pi}{2B+1}$ is equal to $\frac{-1}{2}$ for all integers A, B.

Proof. Let μ be any positive integer $\leq 2B+1$ and let

$$(2A+1)\mu^2 \equiv P \mod 2(2B+1)$$
.

Then,

$$(2A+1)(2B+1+\mu)^2 = (2A+1)(4B^2+4B+4B\mu+2\mu+\mu^2+1)$$

$$= (2A+1)[(4B^2+2B)+(2B+1)+(4B\mu+2\mu)+\mu^2]$$

$$= (2A+1)[2B(2B+1)+2\mu(2B+1)+(2B+1)+\mu^2]$$

$$\equiv (2A+1)(2B+1+\mu^2)\operatorname{mod} 2(2B+1)$$

$$= (2A+1)(2B+1)+(2A+1)\mu^2$$

$$= 2A(2B+1)+(2B+1)+(2A+1)\mu^2$$

$$\equiv (2A+1)\mu^2+(2B+1)\operatorname{mod} 2(2B+1)$$

$$\equiv P+(2B+1)\operatorname{mod} 2(2B+1).$$

Therefore each μ can be paired off with a ν equal to $\mu + 2B + 1$ and $\sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2}$ is differentiable at $\frac{(2A+1)\pi}{2B+1}$. Since

$$(2A+1)\mu^2 = (2A+1)(-\mu)^2 \equiv (2A+1)[2(2B+1)-\mu]^2 \mod 2(2B+1),$$
 for each (μ,ν) pair, there is another (μ,ν) pair in which the values of P_μ and P_ν are reversed, except for $\mu=2B+1$, $\nu=2(2B+1)$. Therefore, each $\frac{\nu-\mu}{2(2B+1)}\cos\frac{\pi P}{(2B+1)}$ is matched by a $\frac{\mu-\nu}{2(2B+1)}\cos\frac{\pi P}{(2B+1)}$ except for $\mu=2B+1$, $\nu=2(2B+1)$, so the derivative of $\sum_{k=1}^{\infty}\frac{\sin k^2x}{k^2}$ is equal to $\frac{-1}{2}$ at $\frac{(2A+1)\pi}{2B+1}$.

THEOREM 2. $\sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2} \text{ has no derivative at } \frac{(2A+1)\pi}{2^N} \text{ for all integers}$ A, N with $N \ge 1$.

Proof. The case of N=1 has been proved by Hardy, and the case of N=2 follows directly from Lemma 2.

Consider $N \ge 3$. Let μ be any odd integer $\le 2^{N+1}$ and let $(2A+1)\mu^2 \equiv P \mod 2^{N+1}$. Then,

$$\begin{split} (2A+1) \, (2^{N-1}+\mu)^{\,2} &= (2A+1) \, (2^{2N-2}+2^N\mu+\mu^2) \\ &\equiv (2A+1) \, (2^N\mu+\mu^2) \bmod 2^{N+1} \\ &= 2^{N+1}A\mu + 2^N\mu + (2A+1)\mu^2 \equiv 2^N + P \bmod 2^{N+1}. \end{split}$$

The even values of μ need not be considered if the function is known to be non-differentiable at points of the form $\frac{(2A+1)\pi}{2^{N-2}}$. Therefore, by induction, $\sum_{k=1}^{\infty} \frac{\sin k^2 x}{k^2}$ is not differentiable at $\frac{(2A+1)\pi}{2^N}$ for all integers A, N with $N \ge 1$. This concludes the proofs.

I wish to thank Prof. Serge Lang for his invaluable help in preparing this paper.

COLUMBIA COLLEGE.

REFERENCES.

- [1] P. du Bois-Raymond, "Versuch einer Classification der willkürlichen Functionen reeller Argumente nach ihren Änderungen in den kleinsten Intervallen," Journal fur Mathematik, vol. 79 (1875), p. 28.
- [2] G. H. Hardy, "Weierstrass's non-differentiable function," Transactions of the American Mathematical Society, vol. 17 (1916), pp. 322-323.
- [3] J. P. Kahane, "Lacunary Taylor and Fourier series," Bulletin of the American Mathematical Society, vol. 70 (1964), pp. 199-213.
- [4] K. Weierstrass, "Uber continuerliche Funktionen einer reellen Arguments die fur keinen Werth des letzeren einen bestimmten Differentialquotienten bestizen," Mathematische Werk II, pp. 71-74.